72y goms| M | Fof| 2y | Zoum Az *(f’j’j)ﬁ
FolESA=MR AN S S IF| 10 = g5 | 10.00~13:00 | 3 300,000
ke (ET S e el 00| 10 = = 09:30~12:30 | 3 125,000
Oj=deld"HANEE) Olgz| 20 OF o= 19:00~22:00 3 300,000
AOX7| g REXNz2P|E) | dY¥F| 15 OF 3} 19:00~21:00 2 150,000
HiMO| @5tLt R He(Ba) | #O|2kH| 10 T 3} 09:30~12:30 3 100,000
HiMO| @5tLt = Hef(a=h | #0|2F| 10 OF 3} 18:30~21:30 3 100,000
MOl IIL RFHY(7IX) | #™O[2H] 10 OF = 18:30~21:30 3 100,000

Z3T|EHE ) gHE| 8 Of 3} 19:00~22:00 3 160,000
=R E(X2E) ZEfR | 15 T eI = 10:00~12:00 | 4 100,000
SARIES S e EHA IEF| 10 T =1 10:00~13:00 3 250,000
=R E(XaE) X2 10 = T 10:00~13:00 3 100,000
HES A2l o5t AZF Eft] 1 = T 14:00~15:00 1 400,000
HESO| Ofsl|et Az dEfh] 1 T &= 15:00~16:00 1 400,000
HESO| Ofsl|et Az dEfh] 1 T &= 16:00~17:00 1 400,000
HESYO| Ofsljet Az dEfh] 1 T &= 17:00~18:00 1 400,000
HESO| Ofsl|et A dEjeh| 2 OF &= 19:00~21:00 | 2 300,000
HEET2 FRLUSKEAEE) [ s 10 = = 09:00~15:00 | 6 200,000
028 %0l S40EXEAGES) | &M= | 10 of = 16:00~22:00 | 6 200,000
7OF & &% OFFSX|=ANEE) | A8 | 5 = | 52 | 0900~1230 | 6 170,000
=M 3 HEfL|ZE OtE =HM| 5 T = 10:00~12:00 | 2 150,000

a2 Hu| 25t Ho|Ht2|AE
| 14 g T EFEl 2 E szl | 10 Of = 18:00~22:00 8 300,000
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+ any goms| M [ Fof| 2y | Zoum Az ﬁfﬁ’j)ﬁ 81
22 3 Mo|Ue MH=m|ote og=| 5 = a 16:00~19:00 3 150,000
23 3 Mo|Ue MH=m|ote og=| 5 OF a 19:00~22:00 3 150,000
24 WA A X(FHATOIE) o171 g 10 Of = 19:00~21:00 | 2 160,000
25 ANEZZ gggh 10 = | &38| 17:00~19:00 2 350,000
26 ANEZZ gdgh 10 OF | E,=23| 19:00~21:00 2 350,000
27 | &Lt &2 st= EOtE&OI3 ™S 2HX|Z] | 10 OF = 19:00~22:00 3 160,000




